

Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.
--

Serdica

Mathematical Journal

Сердика

Математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.
Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Mathematical Journal
which is the new series of
Serdica Bulgaricae Mathematicae Publicationes
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

THE STRUCTURE OF $U(F(C_n \times D_8))$

Sheere Farhat Ansari, Meena Sahai

Communicated by V. Drensky

ABSTRACT. Let D_n be the dihedral group of order n . The structures of the unit groups of the finite group algebras FD_8 and $F(C_2 \times D_8)$ over a field F of characteristic 2 are given in: L. CREEDON, J. GILDEA. The structure of the unit group of the group algebra $F_{2^k}D_8$. *Canad. Math. Bull.* **54**, 2 (2011), 237–243 and J. GILDEA. Units of the group algebra $F_{2^k}(C_2 \times D_8)$. *J. Algebra Appl.* **10**, 4 (2011), 643–647, respectively. In this article, we establish the structure of the unit group of the group algebra $F(C_n \times D_8)$, $n \geq 1$ over a finite field F of characteristic p containing $q = p^k$ elements.

1. Introduction. Let $U(FG)$ be the unit group of the group algebra FG of a group G over a finite field F of characteristic p and let $V(FG)$ be the group of the normalized units of FG . It is well known that $U(FG) \cong V(FG) \times U(F)$. We denote by $J(FG)$, the Jacobson radical of FG . If G and H are groups, then $F(G \times H) \cong (FG)H$, the group ring of H over the ring FG , see [6, Chap 3, Page 134].

One of the interesting problems which arises in the study of group algebras is to find precisely the structure of the unit group of the group algebra. Explicit

calculations in $U(FG)$ are usually difficult, even when G is fairly small. For a finite abelian group G , the structure of the semisimple group algebra FG and hence that of $U(FG)$ is given by Perlis and Walker in [8]. The unit group of a modular group algebra of a finite abelian p -group has been studied by Sandling in [9].

Let $D_{2n} = \langle x, y \mid x^n = y^2 = xyxy = 1 \rangle$ be the dihedral group of order $2n$. The structures of $U(FD_8)$ and $U(F(C_2 \times D_8))$, where F is a finite field of characteristic 2 were obtained by Gildea, et al. in [1, 2], respectively. The unit group of the semisimple group algebra FD_{2^n} is given in [5]. In this article, our aim is to study the structure of $U(F(C_n \times D_8))$.

Throughout the paper, C_n is the cyclic group of order n , C_n^k is the direct product of k copies of C_n , F_n is the extension field of F of degree n and $GL(n, F)$ is the general linear group of degree n over F . For coprime integers l and m , $\text{ord}_m(l)$ denotes the multiplicative order of l modulo m .

2. Preliminaries. We shall be using the following results for our work, so we enlist them here.

Theorem 2.1 ([5]). *Let F be a finite field of characteristic $p > 2$ containing $q = p^k$ elements. Then*

$$U(FD_8) \cong C_{q-1}^4 \times GL(2, F).$$

Theorem 2.2 ([4, Theorem 2.1]). *Let F be a finite field of characteristic p containing $q = p^k$ elements. If $(n, p) = 1$, then*

$$U(FC_n) \cong C_{q-1} \times \left(\prod_{l>1, l|n} C_{q^{d_l}-1}^{e_l} \right)$$

where $d_l = \text{ord}_l(q)$ and $e_l = \frac{\phi(l)}{d_l}$.

Theorem 2.3 ([4, Theorem 2.4]). *Let F be a finite field of characteristic p containing $q = p^k$ elements. If $n = p^m n_1$, where $(n_1, p) = 1$ and $m \geq 1$, then*

$$U(FC_n) \cong U(FC_{p^m}) \times \left(\prod_{l>1, l|n_1} U(F_{d_l} C_{p^m})^{e_l} \right)$$

where $d_l = \text{ord}_l(p^k)$ and $e_l = \frac{\phi(l)}{d_l}$.

It is not difficult to see that Theorem 2.4 in [9] proved for a field with p elements can be easily adopted for a field with p^k elements. Hence we have the following result:

Theorem 2.4. *Let F be a finite field of characteristic p containing $q = p^k$ elements and let G be a finite abelian p -group. Then*

$$U(FG) \cong C_{q-1} \times \prod_{i=1}^e C_{p^i}^{n_i}$$

where

1. p^e is the exponent of G .
2. $n_i = k \left(|G^{p^{i-1}}| - 2|G^{p^i}| + |G^{p^{i+1}}| \right)$ for all $1 \leq i \leq e$.

As a consequence of the previous theorem we have:

Theorem 2.5. *Let F be a finite field of characteristic 2 containing 2^k elements and let $G = C_2 \times C_{2^r}$. Then*

$$U(FG) \cong \begin{cases} C_2^k \times C_{2^k-1}, & \text{if } r = 0; \\ C_2^{3k} \times C_{2^k-1}, & \text{if } r = 1; \\ C_2^{5k} \times C_4^k \times C_{2^k-1}, & \text{if } r = 2; \\ C_2^{5 \cdot 2^{r-2}k} \times \prod_{t=1}^{r-2} C_{2^{r-t}}^{2^{t-1}k} \times C_{2^r}^k \times C_{2^k-1}, & \text{if } r > 2. \end{cases}$$

3. Main results. Let $G = C_n \times D_8$ be presented as $G = \langle x, y, z \mid x^4 = y^2 = z^n = xyxy = 1, xz = zx, zy = yz \rangle$.

Theorem 3.1. *Let F be a finite field of characteristic 2 containing 2^k elements and let $G = C_n \times D_8$.*

1. *If n is odd, then*

$$U(FG) \cong (((C_4^{nk} \times C_2^{nk}) \rtimes C_4^{nk}) \times C_2^{nk}) \rtimes U(F(C_n \times C_2)).$$

2. *If n is even, then*

$$U(FG) \cong (((C_4^{\frac{n}{2}k} \times C_2^{2nk}) \rtimes C_4^{\frac{n}{2}k}) \times C_2^{2nk}) \rtimes U(F(C_n \times C_2)).$$

Proof. Let $K = \langle x \rangle$. Then $G/K \cong H \cong \langle y, z \mid y^2 = z^n = 1, yz = zy \rangle$. Thus from the ring epimorphism $FG \rightarrow FH$ given by

$$\sum_{j=0}^{n-1} \sum_{i=0}^3 x^i z^j (a_{i+4j} + a_{i+4(n+j)} y) \mapsto \sum_{j=0}^{n-1} \sum_{i=0}^3 z^j (a_{i+4j} + a_{i+4(n+j)} y)$$

we get a group epimorphism $\theta : U(FG) \rightarrow U(FH)$.

Further, from the inclusion map $i : FH \rightarrow FG$, we have $i : U(FH) \rightarrow U(FG)$ such that $\theta i = 1_{U(FH)}$. Therefore $U(FG)$ is a split extension of $U(FH)$ by $\ker(\theta)$. Hence $U(FG) \cong V \rtimes U(FH)$, where $V = \ker(\theta)$.

Let $u = \sum_{j=0}^{n-1} \sum_{i=0}^3 x^i z^j (a_{i+4j} + a_{i+4(n+j)} y) \in U(FG)$, then $u \in V$ if and only if $\sum_{i=0}^3 a_i = 1$ and $\sum_{i=0}^3 a_{i+4j} = 0$ for $j = 1, 2, \dots, (2n-1)$. Therefore

$$V = \{1 + \sum_{j=0}^{n-1} \sum_{i=1}^3 (x^i - 1) z^j (b_{i+3j} + b_{i+3(n+j)} y) \mid b_i \in F\}$$

and $|V| = 2^{6nk}$. Since $\ker(\theta)^4 = 0$, $V^4 = 1$. We now study the structure of V in the following steps:

Step 1: Let S be the subset of V consisting of elements of the form

$$1 + \sum_{i=0}^{n-1} p_i z^i (x + x^3) + \sum_{i=0}^{n-1} q_i z^i (y + x^3 y) + \sum_{i=0}^{n-1} r_i z^i (xy + x^2 y),$$

where $p_i, q_i, r_i \in F$. Then S is an abelian group and

$$S \cong \begin{cases} C_4^{nk} \times C_2^{mk}, & \text{if } n \text{ is odd;} \\ C_4^{\frac{n}{2}k} \times C_2^{2nk}, & \text{if } n \text{ is even.} \end{cases}$$

Let

$$s_1 = 1 + \sum_{i=0}^{n-1} p_i z^i (x + x^3) + \sum_{i=0}^{n-1} q_i z^i (y + x^3 y) + \sum_{i=0}^{n-1} r_i z^i (xy + x^2 y) \in S$$

and

$$s_2 = 1 + \sum_{i=0}^{n-1} a_i z^i (x + x^3) + \sum_{i=0}^{n-1} b_i z^i (y + x^3 y) + \sum_{i=0}^{n-1} c_i z^i (xy + x^2 y) \in S,$$

where $p_i, q_i, r_i, a_i, b_i, c_i \in F$. Then

$$\begin{aligned} s_1 s_2 = & 1 + \sum_{i=0}^{n-1} [(p_i + a_i)z^i + \gamma_1](x + x^3) + \sum_{i=0}^{n-1} [(q_i + b_i)z^i + \gamma_2](y + x^3 y) \\ & + \sum_{i=0}^{n-1} [(r_i + c_i)z^i + \gamma_2](xy + x^2 y) \in S, \end{aligned}$$

where

$$\begin{aligned} \gamma_1 &= \sum_{i=0}^{n-1} \sum_{j=0}^{n-1} (q_i b_j + q_i c_j + r_i b_j + r_i c_j) z^{i+j}, \\ \gamma_2 &= \sum_{i=0}^{n-1} \sum_{j=0}^{n-1} (p_i b_j + p_i c_j + q_i a_j + r_i a_j) z^{i+j}. \end{aligned}$$

Thus S is an abelian subgroup of V and $|S| = 2^{3nk}$. Let $S \cong C_4^{l_1} \times C_2^{l_2}$. Then $3nk = 2l_1 + l_2$. To obtain l_1 and l_2 , let

$$W = \{s_1 \in S \mid s_1^2 = 1 \text{ and there exist } s_2 \in S \text{ such that } s_1 = s_2^2\}.$$

If $s_1 \in S$ is as defined above, then

$$s_1^2 = \begin{cases} 1 + \sum_{i=0}^{n-1} (q_i + r_i)^2 z^{2i} (x + x^3), & \text{if } n \text{ is odd;} \\ 1 + \sum_{i=0}^{\frac{n}{2}-1} (q_i + q_{i+\frac{n}{2}} + r_i + r_{i+\frac{n}{2}})^2 z^{2i} (x + x^3), & \text{if } n \text{ is even.} \end{cases}$$

Now we have two cases:

Case 1: If n is odd, then $s_1^2 = 1$ and $s_1 = s_2^2$, yield $q_i = r_i = 0$ for $i = 0, 1, \dots, n-1$. Thus

$$W = \{1 + \sum_{i=0}^{n-1} p_i z^i (x + x^3) \mid p_i \in F\},$$

$l_1 = nk$ and $S \cong C_4^{nk} \times C_2^{nk}$.

Case 2: If n is even, then $s_1^2 = 1$ and $s_1 = s_2^2$, yield $q_i = r_i = 0$ for $i = 0, 1, \dots, n-1$ and $p_i = 0$ for $i = 1, 3, \dots, n-1$. Thus

$$W = \{1 + \sum_{i=0}^{\frac{n}{2}-1} p_{2i} z^{2i} (x + x^3) \mid p_{2i} \in F\},$$

$l_1 = \frac{n}{2}k$ and $S \cong C_4^{\frac{n}{2}k} \times C_2^{2nk}$.

Step 2: Let U be the subset of V consisting of elements of the form

$$1 + \sum_{j=1}^n \sum_{i=1}^3 (1 + x^i) s_{j_i} z^{j-1} (1 + y)$$

where $s_{j_i} \in F$. Then U is an abelian group and

$$U \cong \begin{cases} C_4^{nk} \times C_2^{nk}, & \text{if } n \text{ is odd;} \\ C_4^{\frac{n}{2}k} \times C_2^{2nk}, & \text{if } n \text{ is even.} \end{cases}$$

Let

$$u_1 = 1 + \sum_{j=1}^n \sum_{i=1}^3 (1 + x^i) s_{j_i} z^{j-1} (1 + y) \in U$$

and

$$u_2 = 1 + \sum_{j=1}^n \sum_{i=1}^3 (1 + x^i) t_{j_i} z^{j-1} (1 + y) \in U,$$

where $s_{j_i}, t_{j_i} \in F$. Then

$$\begin{aligned} u_1 u_2 = & 1 + \sum_{j=1}^n \sum_{i=1}^3 (1 + x^i) (s_{j_i} + t_{j_i}) z^{j-1} (1 + y) \\ & + \hat{x} \sum_{j=1}^n \sum_{k=1}^n (s_{j_1} + s_{j_3}) (t_{k_1} + t_{k_3}) z^{j+k-2} (1 + y) \in U. \end{aligned}$$

So U is an abelian subgroup of V and $|U| = 2^{3nk}$. Let $U \cong C_4^{k_1} \times C_2^{k_2}$. Then $3nk = 2k_1 + k_2$. To obtain k_1 and k_2 , let

$$T = \{u_1 \in U \mid u_1^2 = 1 \text{ and there exist } u_2 \in U \text{ such that } u_1 = u_2^2\}.$$

If $u_1 \in U$ is as defined above, then

$$u_1^2 = \begin{cases} 1 + \hat{x} \sum_{i=1}^n (s_{i_1} + s_{i_3})^2 z^{2i-2} (1 + y), & \text{if } n \text{ is odd;} \\ 1 + \hat{x} \sum_{i=1}^{\frac{n}{2}} (s_{i_1} + s_{(i+\frac{n}{2})_1} + s_{i_3} + s_{(i+\frac{n}{2})_3})^2 z^{2i-2} (1 + y), & \text{if } n \text{ is even.} \end{cases}$$

Now we have two cases:

Case 1: If n is odd, then $u_1^2 = 1$ and $u_1 = u_2^2$, yield $s_{i_1} = s_{i_2} = s_{i_3}$ for $i = 1, 2, \dots, n$. Thus

$$T = \{1 + \hat{x} \sum_{i=1}^n s_i z^{i-1} (1+y) \mid s_i \in F\},$$

$k_1 = nk$ and $U \cong C_4^{nk} \times C_2^{nk}$.

Case 2: If n is even, then $u_1^2 = 1$ and $u_1 = u_2^2$, yield $s_{i_1} = s_{i_2} = s_{i_3}$ for $i = 1, 2, \dots, n$ and $s_{i_j} = 0$ for $i = 2, 4, \dots, n$ and $j = 1, 2, 3$. Thus

$$T = \{1 + \hat{x} \sum_{i=1}^{\frac{n}{2}} s_{2i-1} z^{2i-2} (1+y) \mid s_{2i-1} \in F\},$$

$k_1 = \frac{n}{2}k$ and $U \cong C_4^{\frac{n}{2}k} \times C_2^{2nk}$.

Step 3: $V \cong \begin{cases} ((C_4^{nk} \times C_2^{nk}) \rtimes C_4^{nk}) \times C_2^{nk}, & \text{if } n \text{ is odd;} \\ ((C_4^{\frac{n}{2}k} \times C_2^{2nk}) \rtimes C_4^{\frac{n}{2}k}) \times C_2^{2nk}, & \text{if } n \text{ is even.} \end{cases}$

Let

$$s = 1 + \sum_{i=0}^{n-1} p_i z^i (x + x^3) + \sum_{i=0}^{n-1} q_i z^i (y + x^3 y) + \sum_{i=0}^{n-1} r_i z^i (xy + x^2 y) \in S$$

and

$$u = 1 + \sum_{j=1}^n \sum_{i=1}^3 (1 + x^i) t_{ji} z^{j-1} (1+y) \in U,$$

where $p_i, q_i, r_i, t_{ji} \in F$, then

$$\begin{aligned} s^u &= 1 + \sum_{i=0}^{n-1} p_i z^i (x + x^3) + u^{-1} \left[\sum_{i=0}^{n-1} q_i z^i (1 + x^3) y + \sum_{i=0}^{n-1} r_i z^i (x + x^2) y \right] u \\ &= s + \hat{x} \sum_{j=1}^n \sum_{i=0}^{n-1} (q_i + r_i) (t_{j1} + t_{j3}) z^{i+j-1} y \in S \end{aligned}$$

Thus U normalizes S . Since $S \cap U = 1$, $|SU| = 2^{6nk} = |V|$. Therefore $V = SU \cong S \rtimes U$. Now $s^u = s$ if and only if $t_{j1} = t_{j3}$ for $j = 1, 2, \dots, n$. If $t_{j1} = t_{j3}$ for $j = 1, 2, \dots, n$, then $u^2 = 1$. Therefore the elements of order 2 in U act trivially on S . Hence the assertion. \square

For $U(F(C_n \times C_2))$, we prove the following:

Theorem 3.2. *Let F be a finite field of characteristic 2 containing 2^k elements and let $G_1 = C_{2^r s} \times C_2$, $r \geq 0$ such that $(2, s) = 1$. Then*

$$U(FG_1) \cong \begin{cases} C_2^{sk} \times C_{2^{k-1}} \times \prod_{l>1, l|s} C_{2^{d_l k-1}}^{e_l}, & \text{if } r = 0; \\ C_2^{3sk} \times C_{2^{k-1}} \times \prod_{l>1, l|s} C_{2^{d_l k-1}}^{e_l}, & \text{if } r = 1; \\ C_2^{5sk} \times C_4^{sk} \times C_{2^{k-1}} \times \prod_{l>1, l|s} C_{2^{d_l k-1}}^{e_l}, & \text{if } r = 2; \\ C_2^{5 \cdot 2^{r-2} sk} \times \prod_{t=1}^{r-2} C_{2^{r-t}}^{2^{t-1} sk} \times C_{2^r}^{sk} \times C_{2^{k-1}} \times \prod_{l>1, l|s} C_{2^{d_l k-1}}^{e_l}, & \text{if } r > 2. \end{cases}$$

where $d_l = \text{ord}_l(2^k)$ and $e_l = \frac{\phi(l)}{d_l}$.

Proof. Since $(2, s) = 1$, by [6, Chap 3, Page 134] and Theorem 2.2, we have

$$\begin{aligned} FG_1 &\cong (FC_s)(C_2 \times C_{2^r}) \\ &\cong (F \oplus \oplus_{l>1, l|s} F_{d_l}^{e_l})(C_2 \times C_{2^r}) \\ &\cong F(C_2 \times C_{2^r}) \oplus \oplus_{l>1, l|s} (F_{d_l}(C_2 \times C_{2^r}))^{e_l}. \end{aligned}$$

$d_l = \text{ord}_l(2^k)$ and $e_l = \frac{\phi(l)}{d_l}$. Invoking Theorem 2.5, we have the result. \square

It should be noted here that if $(2, n) = 1$, then $C_n \times C_2 = C_{2n}$ and so for the structure of $U(F(C_n \times C_2))$ we can apply Theorem 2.3 or we can take $r = 0$ and $s = n$ and use the above theorem.

Now we consider fields of characteristic $p > 2$.

Theorem 3.3. *Let F be a finite field of characteristic $p > 2$ containing $q = p^k$ elements and let $G = C_n \times D_8$ where $n = p^r s$, $r \geq 0$ such that $(p, s) = 1$. If $V = 1 + J(FG)$, then*

$$U(FG)/V \cong C_{q-1}^4 \times GL(2, F) \times \prod_{l>1, l|s} \left(C_{q^{d_l-1}}^4 \times GL(2, F_{d_l}) \right)^{e_l},$$

where V is a group of exponent p^r and order $p^{2^3 sk(p^r-1)}$. Also, $d_l = \text{ord}_l(q)$ and $e_l = \frac{\phi(l)}{d_l}$.

Proof. Let $K = \langle z^s \rangle$. Then $G/K \cong H \cong C_s \times D_8$. If $\theta : FG \rightarrow FH$ is the canonical ring epimorphism, then by [7, Lemma 8.1.17] and [7, Theorem 7.2.7], $J(FG) = \ker(\theta)$, $FG/J(FG) \cong FH$ and $\dim_F J(FG) = 2^3 s(p^r - 1)$. Hence

$$U(FG) \cong V \rtimes U(FH),$$

where $V = 1 + J(FG)$. Clearly, exponent of $V = p^r$ and $|V| = p^{2^3 sk(p^r - 1)}$. Now,

$$\begin{aligned} FH &\cong (FC_s)D_8; \\ &\cong (F \oplus \oplus_{l>1, l|s} F_{d_l}^{e_l})D_8; \\ &\cong FD_8 \oplus \oplus_{l>1, l|s} (F_{d_l}D_8)^{e_l}, \end{aligned}$$

where $d_l = \text{ord}_l(q)$ and $e_l = \frac{\phi(l)}{d_l}$. By Theorem 2.1,

$$U(FD_8) \cong C_{q-1}^4 \times GL(2, F).$$

Hence

$$U(FH) \cong C_{q-1}^4 \times GL(2, F) \times \prod_{l>1, l|s} \left(C_{q^{d_l}-1}^4 \times GL(2, F_{d_l}) \right)^{e_l}. \quad \square$$

In the above theorem, if $r = 0$, then we have the unit group of the semisimple group algebra FG given by

$$U(FG) \cong C_{q-1}^4 \times GL(2, F) \times \prod_{l>1, l|n} C_{q^{d_l}-1}^{4e_l} \times GL(2, F_{d_l})^{e_l}$$

where $d_l = \text{ord}_l(q)$ and $e_l = \frac{\phi(l)}{d_l}$.

In [3], Gildea et. al. has been obtained the structure of the unit group of the group algebra $F(C_n \times D_8)$. In this paper, our result is independent of [3] and it was done when we had no knowledge that they have worked in this problem. But our characterization is complete as it is for all characteristic whereas they have done only for characteristic 2.

REFERENCES

- [1] L. CREEDON, J. GILDEA. The structure of the unit group of the group algebra $F_{2^k}D_8$. *Canad. Math. Bull.* **54**, 2 (2011), 237–243.

- [2] J. GILDEA. Units of the group algebra $F_{2^k}(C_2 \times D_8)$. *J. Algebra Appl.* **10**, 4 (2011), 643–647.
- [3] J. GILDEA, J., S. O'MALLEY. Units of the group algebra of the group $C_n \times D_8$ over any finite field of characteristic 2. *Malays. J. Math. Sci.* **15**, 2 (2021), 303–312.
- [4] N. MAKHIJANI, R. K. SHARMA, J. B. SRIVASTAVA. The unit group of algebra of circulant matrices. *Int. J. Group Theory* **3**, 4 (2014), 13–16.
- [5] N. MAKHIJANI, R. K. SHARMA, J. B. SRIVASTAVA. The unit group of some special semisimple group algebras. *Quaest. Math.* **39**, 1 (2016), 9–28.
- [6] C. P. MILIES, S. K. SEHGAL. An Introduction to Group Rings. Algebra and Applications, vol. **1**. Dordrecht, The Netherlands, Kluwer Academic Publishers, 2002.
- [7] D. S. PASSMAN. The algebraic structure of group rings. Pure and Applied Mathematics. New York, Wiley Interscience, 1977.
- [8] S. PERLIS, G. L. WALKER. Abelian group algebras of finite order. *Trans. Amer. Math. Soc.* **68**, 3 (1950), 420–426.
- [9] R. SANDLING. Units in the modular group algebra of a finite abelian p -group. *J. Pure Appl. Algebra* **33**, 3 (1984), 337–346.

Department of Mathematics and Astronomy

University of Lucknow

Lucknow, U.P.226007, India

e-mail: sheere_farhat@rediffmail.com (Sheere Farhat Ansari)

e-mail: meena_sahai@hotmail.com (Meena Sahai)

Received August 5, 2021